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Asks ...

¢ Why is support for trade liberalization falling?

and answers, cosS ...

The effects of trade liberalization (really of TLCs) has been heterogeneous
In sectors and regions...

... maybe related to heterogeneous and high transport costs...

... falta hardware.
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Moreover, it seems pretty clear that it has been
welfare improving for households in Chile...

... especially the poorest ...

... S0 ¢ what's the problem?
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...what you guys don't get is that its about risk...
... nhot (only) level...

... RTS has become more volatile ...

... cos it changes in the cycle...

...and the cylce is mainly imported from abroad
In open and specialized economies.

... education has become more risk, which is a
big deal.
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¢, Riding the commodity bubble are we not?

and ans
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It can be done...

...its hard for this period.
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So...

...I'm not completely convificed about this
problem ...

...I'm convinced about his grgument
although | recognize the nged for more
work on the empirical evidgnce ...

...I sort of think these guys could look at
risk-ish variables...

... but would have to change period.
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